Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items. 4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for HPNAP		Charge	Charge Per Unit	Available in Latham 05/05/2014	Available in Cornwall 05/05/201	l RS
	DRY SECTION	ON OF DONAT	ED IN	/ENT	ORY				
01-Non 5477	-Foods BIRD SEED AND SUET	AVG 20LB BOX		1	\$0.16/LB	\$0.16	123	0	
3380	BRITA PITCHERS & FILTERS BY WT	25 LB BOX AVG		1	\$0.16/LB	\$0.16	65	0	
5476	CLOCKS-(WALL,ALARM,DECORATIVE)	AVG 20LB CASE		1	\$0.16/LB	\$0.16	12	0	
3736	HOLIDAY ITEMS-DECORATING, WRAPPING, COSTUMES	AVG weight 15 LBS		1	\$0.16/LB	\$0.16	115	0	
5618	INSULTATED LUNCH TOTES- ASST	AVG 15 LBS PER BOX		1	\$0.16/LB	\$0.16	11	0	
9345	KINGSFORD HICKORY SMOKEHOUSE STYLE BRIQUETS	6/3 LB. BAGS		20	\$0.16/LB	\$3.20	35	0	
30	SALV ON SITE FOOD SERVICE SUPPLIES	ASST ITEMS AVG 30 LE	BS	1	\$0.16/LB	\$0.16	16	0	1
3723	SOLAR SALT WATER SOFTENER	1/40 LB BAG		40	\$0.16/LB	\$6.40	179	123	
	y Food/Formula								
03-Beve 5456	erages SPARKLING WATER- ASST. FLAVORS	15/1 LITER BOTTLES		35	\$0.16/LB	\$5.60	377	94	
4222	4C ICED TEA 2 GO GREENTEA FLAVOR	6/1oz		1	\$0.16/LB	\$0.16	150	0	
9054	APPLE FLAVORED COCONUT WATER	12/20 OZ PLASTIC		17	\$0.16/LB	\$2.72	49	0	
4004	ASST FLAVORED SPARKLING WATER	24/17 OZ BOTTLE		28	\$0.16/LB	\$4.48	184	0	
4457	ASST TEAS	80 BAGS PER CASE		2	\$0.16/LB	\$0.32	0	263	
8666	ASST. WATER 24/17	24/17 OZ BOTTLES		29	\$0.02/LB	\$0.58	1,314	0	
4464	BERRY VEGGIE JUICE	27/8 OZ BOTTLES		17	\$0.16/LB	\$2.72	0	35	
8341	BLUE RASBERRY LEMONADE	24/17 OZ PLASTIC BOT	TLES	28	\$0.16/LB	\$4.48	21	0	
7584	CAPRISUN- FRUIT PUNCH	20/6 OZ POUCHES		9	\$0.16/LB	\$1.44	141	19	
5793	COFFEE PODS ASST FLAVORS	108 PODS PER PACK		4	\$0.16/LB	\$0.64	129	0	
2755	DIET GREEN TEA W/ CITRUS	28/17 OZ PLASTIC BTL		32	\$0.16/LB	\$5.12	35	0	
5130	DIET MOUNTAIN DEW	24/12 OZ		21	\$0.16/LB	\$3.36	42	0	
3412	DIET PEPSI 20/12	20/12 OZ CANS		17	\$0.16/LB	\$2.72	181	0	
8321	DIET PEPSI	36/12 OZ CANS		30	\$0.16/LB	\$4.80	90	53	
4118	GATORADE FROST- GLACIER CHERRY	24/20 OZ BOTTLES		35	\$0.16/LB	\$5.60	97	26	
2769	GATORADE LEMON LIME	12/32 OZ		29	\$0.16/LB	\$4.64	39	0	
4470	JUICE BOXES- BLAZIN BLUEBERRY	40/6 OZ BOX		18	\$0.16/LB	\$2.88	0	98	

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant.

RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items. 4= Only Food Pantries, Soup Kitchens and Shelters may order these items. 5= Only Soup Kitchens and Shelters may order these items.

			*=Yes	Caea	Charge	Chargo	in	Available in
Item	Description	Packing	for HPNAP	Wt.	_	Charge Per Unit	Latham 05/05/2014	Cornwall RS 05/05/2014
03-Beve i 7915	rages (Cont'd) LEMON LIME SODA	24/20 OZ BOTTLES		36	\$0.16/LB	\$5.76	105	49
7354	MUSCLE MILK LIGHT- PEACH MANGO	12/14 OZ BOTTLES		13	\$0.16/LB	\$2.08	146	0
7705	MUSCLE MILK LIGHT-CHOCOLATE	6/4/10 OZ BOTTLES		19	\$0.16/LB	\$3.04	50	0
2466	MUSCLE MILK STRAWBERRY FLAVOR	24/9 OZ		14	\$0.16/LB	\$2.24	0	17
8372	MUSCLE MILK-BANANA CREME	6/4/10 OZ BOTTLES		19	\$0.16/LB	\$3.04	35	0
7122	MUSCLE MILK-VANILA	6/4/10 OZ BOTTLES		19	\$0.16/LB	\$3.04	25	0
7794	NATURE'S BLEND-SPRING WATER & REAL JUICE ASST.FLAV	12/20 OZ.BOTTLES		18	\$0.16/LB	\$2.88	96	0
4481	ORANGE SODA	24/20 OZ PLASTIC BO	TTLES	36	\$0.16/LB	\$5.76	0	45
9262	PEACH SODA	24/20 OZ PLASTIC BO	TTLES	36	\$0.16/LB	\$5.76	177	67
4857	PSYCHE COLA	24/12 OZ. CANS		20	\$0.16/LB	\$3.20	539	94
7611	PSYCHE LEMON LIME	24/12 OZ CANS		20	\$0.16/LB	\$3.20	75	0
658	PSYCHE ORANGE	24/12 OZ CAN		20	\$0.16/LB	\$3.20	607	93
7349	PUSH BLACK COLA SODA	24/20 OZ		35	\$0.16/LB	\$5.60	336	106
4799	PYSCHE ROOT BEER	24/12 OZ. CANS		20	\$0.16/LB	\$3.20	27	0
3499	RED ROSE SWEET MINT BLACK TEA	6/12CT BOXES		1	\$0.16/LB	\$0.16	46	0
3206	SIERRA MIST	24/8 OZ CANS		15	\$0.16/LB	\$2.40	44	0
7438	SPREE SPARKLING WATER-ASST. FLAVORS	12/17 OZ BOTTLES		15	\$0.16/LB	\$2.40	235	71
5768	STARBUCKS- PUMPKIN SPICE & PEPPERMINT MOCHA	54/4 OZ PACK		14	\$0.16/LB	\$2.24	13	0
4223	WAIST WATCHERS DIET POMEGRANTE FROST	12/1 LITER BOTTLES		28	\$0.16/LB	\$4.48	260	0
3633	WAIST WATCHERS DIET ROOT BEER SODA	24/12/ OZ CANS		20	\$0.16/LB	\$3.20	150	0
4333	WATER 35/17	35/17 OZ BOTTLES		42	\$0.02/LB	\$0.84	0	21
04-Bread								
05-Cerea 5309	AI MULTI GRAIN HOT CEREAL-ASST FLAVORS	6/8 OZ BOXES	*	3	\$0.16/LB	\$0.48	462	0
06-Meals 9324	s/Entrees/Soups MRE'S- READY TO EAT MEALS	12 MEALS PER CASE	*	18	\$0.16/LB	\$2.88	427	0
9081	CUT GREEN BEANS & SHELLY BEANS	12/15 OZ CANS	*	13	\$0.16/LB	\$2.08	0	13
8133	ULTIMATE AUGRATIN POTATO CASSEROLE	6/2 OZ BAGS	*	3	\$0.16/LB	\$0.48	355	0

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items. 4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

			*=Yes for	Case	Charge	Charge	Available in Latham	Available in Cornwall R
Item	Description	Packing	HPNAP	Wt.		Per Unit		05/05/2014
06-Mea 7616	Is/Entrees/Soups (Cont'd) ULTIMATE CHEDDAR MASHED POTATOES	6/10 OZ BOX	*	5	\$0.00/LB	\$0.00	215	0
08-Dess 847	SertS PUMPKIN PIE FILLING	6/40 OZ		18	\$0.16/LB	\$2.88	100	0
09-Dres	-							
10-Frui 5514	ts Canned/Frozen FRUIT IN A POUCH-PEACH BANANA	7/3.5 OZ POUCHES	*	1	\$0.16/LB	\$0.16	47	0
4858	FRUIT IN POUCH BANANA BLUEBERRY BLACKBERRY	4/10/5 OZ POUCHES	*	13	\$0.16/LB	\$2.08	0	58
7809	FRUIT IN POUCH- MANGOS	4/10/4 OZ POUCHES	*	13	\$0.16/LB	\$2.08	55	0
4790	FRUIT IN POUCH-MANGO PEAR PINEAPPLE	4/10/5 OZ POUCHES	*	13	\$0.16/LB	\$2.08	0	106
11-Grai ³³⁵¹	NS ASST. FLAVORED CRACKERS	ASST 45	*	1	\$0.16/LB	\$0.16	16	13
8921	COUSCOUS PORTABELLA MUSHROOMS	8/6 OZ BOXES	*	5	\$0.16/LB	\$0.80	0	82
5690	ISRAELI TOASTED PASTA COUSCOUS	24/8.8 OZ BAGS	*	15	\$0.00/LB	\$0.00	200	0
3214	RITZ CRUSHED CRACKERS	10-11LBS BAG	*	11	\$0.16/LB	\$1.76	107	0
7928	SALTINE CRACKERS	500-2count pkg	*	8	\$0.16/LB	\$1.28	99	42
4309	TRISCUITS-RYE & CARAWAY SEEDS	12/9 OZ BOX	*	8	\$0.16/LB	\$1.28	0	33
5105	WASABI RICE CRACKERS	12/16 OZ PLASTIC TRAY	*	17	\$0.16/LB	\$2.72	1	14
12-Heal 5765	th/Beauty Care EYE DROPS BY WEIGHT	AVG. 15		1	\$0.16/LB	\$0.16	23	0
5346	NAIL POLISH	AVG 35 LB CASE		1	\$0.16/LB	\$0.16	1,247	380
5825	VITAMN C CITRUS FLAVORED LOZENGERS	12/80 CT BAGS		7	\$0.16/LB	\$1.12	17	0
13-Clea	ning Products							
14-Juic ²⁷⁴³	es MOTT'S 100% APPLE JUICE	24/8 OZ. PLASTIC BOTTL	ES *	15	\$0.16/LB	\$2.40	7	86
1 6-Mixe ₅₂₅₈	ed/Assorted STOVE TOP STUFFING TURKEY FLAVOR	12/6OZ	*	6	\$0.16/LB	\$0.96	207	4
19-Pape	er Products-Household ASST PAPER & PLASTIC BAGS	AVG 20LB PER BOX		1	\$0.16/LB	\$0.16	17	0
3315	ON SITE PAPER PRODUCTS	AVG WT 13		1	\$0.16/LB	\$0.16	1,212	308 1
20-Pape	er Products-Personal							
21-Past 8692		9/9 OZ. BOXES	*	7	\$0.16/LB	\$1.12	81	0
0032	AUUI.FAUIA	9/8 OL. DONES	•	1	ψU. IU/LD	φ1.1∠	01	U

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant.

RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items. 4= Only Food Pantries, Soup Kitchens and Shelters may order these items. 5= Only Soup Kitchens and Shelters may order these items.

	о от у от тр		*=Yes	Case	Charge	Charge	Available in Latham	Available in Cornwall RS
Item	Description	Packing	HPNAP	Wt.	PerLB	Per Unit	05/05/2014	05/05/2014
21-Pasta 8426	a (Cont'd) RINGS AND CHEESE PASTA	8/6 OZ BOXES	*	3	\$0.16/LB	\$0.48	0	15
7948	SPAGHETTI	20/1 LB BAGS	*	21	\$0.16/LB	\$3.36	0	55
22-1-Pet	Food-Dog Only							
5176	EVO WEIGHT MANAGEMENT ADULT DOG FOOD	28 LB BAGS		28	\$0.16/LB	\$4.48	38	44
5250	INNOVA DOG FOOD-LARGE BITES	30 LB BAGS		30	\$0.16/LB	\$4.80	27	120
9192	INNOVA WEIGHT MANAGEMENT DOG FOOD	30 LB BAGS		30	\$0.16/LB	\$4.80	29	105
22-Pet F 5776	cat litter	4/10 LB BAGS		35	\$0.16/LB	\$5.60	18	0
23-Non- 5784	Meat Protein PEANUT BUTTER 6/80	6/80 OZ PLASTIC TUBS	} *	31	\$0.16/LB	\$4.96	802	50
7844	PEANUT BUTTER, SMOOTH 12/18 oz	12/18 OZ	*	21	\$0.16/LB	\$3.36	251	0
3466	SKIPPY PEANUT BUTTER SPREAD W/ DARK CHOCOLATE	12/15 OZ JARS		12	\$0.16/LB	\$1.92	25	0
24-Rice								
8089	RICE	2/20 IBS	*	41	\$0.16/LB	\$6.56	34	0 1
9493	UNCLE BENS WHOLE GRAIN BROWN RICE	12/1LB BOXES	*	13	\$0.16/LB	\$2.08	16	0
9477	UNCLE BEN'SMICROWAVABLE GARDEN VEGETABLE RICE	12/4.4 OZ CONTAINERS	s *	5	\$0.16/LB	\$0.80	17	0
25-Snac	k Foods/Cookies							
9269	SOFT MOLASSES COOKIES	12/9 OZ.PACKAGES		8	\$0.16/LB	\$1.28	115	73
9538	100 CALORIE FUDGE DIPPED PRETZEL BITES	6/4.44 OZ BOX		3	\$0.16/LB	\$0.48	328	110
3350	ASSORTED COOKIES	ASST 45		1	\$0.16/LB	\$0.16	0	23
5824	ASST CREME SANDWICH COOKIES	12/32 OZ PACK		26	\$0.16/LB	\$4.16	236	0
4439	BISCOTTI BITES- CARMEL & MILK CHOCOLATE	6/7 OZ PACK		3	\$0.16/LB	\$0.48	0	65
4428	CAP N CRUNCH TREATS-ASST FLAVORS	8/8CT BOXES		5	\$0.16/LB	\$0.80	100	0
5822	CHOCOLATE CREME SANDWICH COOKIES	12/16 OZ PACK		13	\$0.16/LB	\$2.08	337	79
7489	CHOCOLATE CREME SANDWICH COOKIES	24/20 OZ PACKAGES		37	\$0.16/LB	\$5.92	671	0
4465	CHOCOLATE MINT CRUNCH BARS	8/5/1 OZ BARS		6	\$0.16/LB	\$0.96	0	76
5208	CREAMY RANCH FLAVORED SOY CRISPS	12/4 OZ BAGS		4	\$0.16/LB	\$0.64	45	0
5184	DENTYNE ICE GUM	4/80 PACK BAGS		4	\$0.16/LB	\$0.64	33	0
9684	GINGERBREAD CHEESECAKE CREME SANDWICH COOKIES	12/10 OZ BOX		10	\$0.16/LB	\$1.60	49	0

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant.

RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items. 4= Only Food Pantries, Soup Kitchens and Shelters may order these items. 5= Only Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge PerLB	Charge Per Unit	in Latham	Available in Cornwall RS 05/05/2014
25-Snack	Foods/Cookies (Cont'd) MANGOTANGO SUGAR FREE GUM	12/12 OZ PACKS		11	\$0.16/LB	\$1.76	966	237
4471	MIXED BERRY SOFT BAKED BISCUITS	8/8/1.76 OZ BOX		18	\$0.16/LB	\$2.88	0	82
3074	OATMEAL RAISIN MORNING BISCUITS	6/8 COUNT		5	\$0.16/LB	\$0.80	0	269
7613	PEANUT BUTTER CHOCOLATE CHIP BARS	8/5-1 OZ BAR PACKS		6	\$0.16/LB	\$0.96	0	48
5689	PEANUT BUTTER CUPS	6/12CT. BAGS		1	\$0.16/LB	\$0.16	73	0
2061	POP TARTS- HOT FUDGE SUNDAE	12/14 OZ BOXES		12	\$0.16/LB	\$1.92	188	0
5817	POPCORN LIGHT SALT SIMPLY BALANCED	12/5.5 OZ BAGS		12	\$0.16/LB	\$1.92	18	0
618	PUDD 'N POUCHES	12/4/3 OZ		11	\$0.16/LB	\$1.76	247	0
5195	PUDD' N POUCHES-BANANA	12/12 OZ BOXES		10	\$0.16/LB	\$1.60	0	38
2491	RICE KRISPIES TREATS	40/1 OZ PACK		21	\$0.16/LB	\$3.36	0	286
5823	SANDWICH COOKIES- ASST FLAVORS 12/25	12/25 OZ PACKS		21	\$0.16/LB	\$3.36	383	35
9413	SOCIAL TEA BISCUITS	6/12.35 OZ BOXES		6	\$0.16/LB	\$0.96	33	0
8674	SOUR PATCH KIDS	20/16OZ BAGS		22	\$0.16/LB	\$3.52	432	53
4359	SPECIAL K ASST FLAVOR CRACKER CHIPS	14/4 OZ PACKS		4	\$0.16/LB	\$0.64	146	29
4469	SPECIAL K- CRACKER CHIPS SOUR CREAM & ONION	12/4 OZ BOX		4	\$0.16/LB	\$0.64	0	196
5571	SPECIAL K- POPCORN CHIPS	12/.77 OZ PACKS		1	\$0.16/LB	\$0.16	0	73
6029	SPECIAL K POPCORN CHIPS-BUTTER FLAVOR	4/3 OZ		2	\$0.16/LB	\$0.32	125	201
7724	SPECIAL K POPCORN CHIPS-SWEET & SALTY FLAVOR	4/3 OZ. BOXES		2	\$0.16/LB	\$0.32	139	179
9761	SPECIAL K-SOUTHWEST RANCH CRACKER CHIPS	12/4 OZ PACKS		5	\$0.16/LB	\$0.80	17	0
8673	STARBURST FRUIT CHEWS	AVG 2272 PIECES PER	BOX	27	\$0.16/LB	\$4.32	18	0
7624	STRAWBERRY RICE KRISPIES TREATS	350 CT. BOX		20	\$0.16/LB	\$3.20	538	39
9233	STRIDE MINTACULAR GUM	20-3PKG BOX		4	\$0.16/LB	\$0.64	379	0
7367	STRIDE SPARK KINETIC MINT GUM	20-3PK BAGS		5	\$0.16/LB	\$0.80	142	0
4244	TOAST EM POP-UPS BROWN SUGAR CINNAMON	12/11 OZ BOXES		10	\$0.16/LB	\$1.60	7	62
9842	TRIDENT LAYERS COOL MINT SUGAR FREE GUM	12-12-14 PIECE BKG		13	\$0.16/LB	\$2.08	101	0
2972	TRIDENT PEPERMINT SWIRL GUM	18-10-9 PIECE BOX		10	\$0.16/LB	\$1.60	45	0
26-Condi 7435	ments FRENCH'S FLAVOR INFUSER-SWEET &TANGY TERIYAKI	12/3.5 OZ INJECTORS	*	4	\$0.16/LB	\$0.64	51	0

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant.

RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items. 4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

			*=Yes for	Case	e Charge	Charge	Available in Latham	Available in Cornwall	рe			
Item	Description	Packing	HPNAP	Wt.		Per Unit	05/05/2014					
26-Con 0	diments (Cont'd) MARINATED ARTICHOKE HEARTS	12/7 OZ GLASS JARS	*	8	\$0.16/LB	\$1.28	0	38				
7443	RECIPE STARTERS- FIRE ROASTED TOMATO	12/18 OZ	*	14	\$0.16/LB	\$2.24	2	57				
3105	SALT	24/26 OZ	*	43	\$0.16/LB	\$6.88	80	110				
27-Vege 2833	etables Canned/Frozen STRAW MUSHROOMS	24/14 OZ CANS	*	26	\$0.16/LB	\$4.16	0	25				
FROZEN SECTION OF DONATED INVENTORY												
04-Brea 5429	nd/Bakery BREADSTICK DOUGH	250 UNITS PER CASE	*	16	\$0.16/LB	\$2.56	10	0	1			
5707	CINNAMON BITES-UNCOOKED	100 BITES PER BULK I	BAG	23	\$0.16/LB	\$3.68	26	0	1			
5733	READY TO EAT MULTIGRAIN FLATBREAD	162/3 OZ FLAT BREAD	IN BU *	28	\$0.16/LB	\$4.48	674	0	1			
06-Mea l 8213	Is/Entrees/Soups CLAM CHOWDER	4/8# BAGS	*	35	\$0.16/LB	\$5.60	47	0				
5747	CREAMY TOMATO SOUP	4/8 LB BAGS	*	32	\$0.16/LB	\$5.12	388	37	1			
5788	FRENCH ONION SOUP	4/8 LB BAG	*	32	\$0.16/LB	\$5.12	245	40	1			
5304	GOLDEN BROCCOLI AND CHEESE SOUP	16/2 LB POUCH	*	32	\$0.16/LB	\$5.12	0	14				
5170	MACARONI & CHEESE GRILLEM STICKS-(ON-SITE)	24/3 OZ STICKS PER E	BOX *	5	\$0.16/LB	\$0.80	4,734	145	1			
5786	MINESTRONE SOUP	16/2 LB BAGS	*	32	\$0.16/LB	\$5.12	252	3				
5527	PEANUT BUTTER & JELLY SNACK STICKS	6/4 INDV. WRAPPED S	STICKS *	5	\$0.16/LB	\$0.80	55	1				
4414	STRAWBERRY PANCAKES	100/2 OZ-BULK ITEM	*	14	\$0.16/LB	\$2.24	0	16				
07-Dair 5828	y Products ASST ICE CREAM 6/32	6/32 OZ TUB		10	\$0.16/LB	\$1.60	166	0				
5780	ASST ICE CREAM HALF GALLONS	14 HALF GALLON CAR	RTONS	40	\$0.16/LB	\$6.40	292	12				
667	ASST ICE CREAM/ FROZEN YOGURT 3 GALLON TUB	3 GALLON TUB		15	\$0.16/LB	\$2.40	700	0				
08-Dess 5820	Serts 6" FROSTED PARTY CAKE	8/6" CAKES		18	\$0.16/LB	\$2.88	132	0				
5770	CHOCOLATE PEANUT BUTTER CUP ICE CREAM	9/1 PINT COMTAINERS	3	7	\$0.16/LB	\$1.12	124	19				
5764	FRENCH CRULLER DONUT	72 COUNT BULK		7	\$0.16/LB	\$1.12	33	0	1			
8419	GLAZED RING DONUTS	8 - 5 COUNT TRAY PA	CKS	15	\$0.16/LB	\$2.40	84	0				
669	ICE CREAM ASST BY WEIGHT	ASST BY WEIGHT 10	lb aver	1	\$0.16/LB	\$0.16	2,633	1,193				

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant.

RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items. 4= Only Food Pantries, Soup Kitchens and Shelters may order these items. 5= Only Soup Kitchens and Shelters may order these items.

					Available				
			*=Yes	Case	Charge	Charge	in Latham	in Cornwall	ВС
Item	Description	Packing	for HPNAP	Wt.		Per Unit	05/05/2014		
	erts (Cont'd)								
5830	PIE SHELL 8"	4/6 CRUSTS		9	\$0.16/LB	\$1.44	76	0	
	Canned/Frozen								
5783	APPLE SLICES	30LB BULK BAG	*	30	\$0.16/LB	\$4.80	37	0	1
	Fish/Poultry								
4157	ASST ITALIAN SAUSAGE BY WT	6 OR 18 LB CASES	*	1	\$0.16/LB	\$0.16	0	14	
8091	ASST CHICKEN BY WEIGHT	APPROX 41 LBS PER CA	ASE *	1	\$0.16/LB	\$0.16	0	14	
7368	CHICKEN ASST BY WEIGHT	BY WEIGHT 35LB AVG	*	1	\$0.16/LB	\$0.16	14	0	
3450	CHICKEN WINGS UNCOOKED	4/10 BAGS	*	40	\$0.16/LB	\$6.40	36	0	1
5804	GROUND BEEF BY WEIGHT	1-3 LB PACKS AVG 25 L	В *	1	\$0.16/LB	\$0.16	0	21	
7369	TURKEY, WHOLE / PIECES	ASST. 40 lb	*	1	\$0.16/LB	\$0.16	3,315	0	
5772	TURKEYS	4/ 10- 16 LB BIRDS	*	55	\$0.16/LB	\$8.80	17	0	
3472	VENISON GROUND 1 LB PKS BY WT	ASST, IN 1 # PKGS 50	*	1	\$0.16/LB	\$0.16	10	0	
21-Pasta									
3750	ASST PASTA	10 LB OF PASTA	*	10	\$0.16/LB	\$1.60	16	0	
25-Snack	Foods/Cookies								
5792	ASST POPSCILES & ITALIAN ICE	8/12 (POP) 5/6 (ITAL.)		19	\$0.16/LB	\$3.04	303	0	
5586	STRAWBERRY JELLY SNACK STICKS	6/4 INDV. WRAPPED ST	ICKS	5	\$0.16/LB	\$0.80	84	0	
26-Condi	iments								
5746	ALFREDO SAUCE	6/5 LB BAGS		30	\$0.16/LB	\$4.80	189	0	
5748	SPICEY CHEESE SAUCE	10/4 LB BAGS		40	\$0.16/LB	\$6.40	77	0	
27-Veget	ables Canned/Frozen								
4361	TOMATOES FOR SAUCES & SOUPS(NEEDS PROCESSING)	20 LBS PER CASE	*	1	\$0.16/LB	\$0.16	0	600	1
4366	BROCCOLI STEMS FOR SOUPS	35 LB BOX	*	35	\$0.16/LB	\$5.60	59	0	1
5782	CUT GREEN BEANS	30LB BULK BAG	*	30	\$0.16/LB	\$4.80	192	0	1
5626	FROZEN IQF BROCCOLI FLORETS	30 BULK BAG	*	30	\$0.16/LB	\$4.80	302	0	1
5697	IQF DICED SHALLOTS	30 LB LOOSE BAG	*	30	\$0.16/LB	\$4.80	99	0	1
5698	IQF SLICED GARLIC HALVES	22 LB LOOSE BAG	*	22	\$0.16/LB	\$3.52	910	178	1
29-Dougl	h								
2 9-Dougi 5687	DANISH DOUGH SHEETS	20/15 OZ SHEETS		19	\$0.16/LB	\$3.04	157	0	

REFRIGERATED SECTION OF DONATED INVENTORY

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

5= Only Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	e Charge PerLB	Charge Per Unit	in Latham	Available in Cornwall RS 05/05/2014
03-Beve	_							
04-Brea	ad/Bakery BREAD n/c: pantry, shelter, soup kitchen	1/1 LB	*	1	\$0.16/LB	\$0.16	-309	13,447
2	SWEETS	avg 20 LB box		1	\$0.16/LB	\$0.16	3,504	10,194
	Is/Entrees/Soups y Products COFFEE CREAMER	12/32 OZ BOTTLES		29	\$0.16/LB	\$4.64	57	0
7418	ORGANIC MILK	6/64 OZ	*	27	\$0.16/LB	\$4.32	0	80
09-Dres	SSING CHIPOLTE ANCHO VINAIGRETTE	2/1 GALLON JARS	*	20	\$0.16/LB	\$3.20	0	46 1
28-Proc 3100	luce FREE PRODUCE	ASST. 40	*	1	\$0.16/LB	\$0.16	133,274	75,939

SALVAGE INVENTORY

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge PerLB	Charge Per Unit	in Latham	Available in Cornwall RS 05/05/2014
	DRY SECTI	ON OF SALVA	GE INV	/ENT	ORY			
01-Non	-Foods							
157	BABY ITEMS: clothes toys lotion; no food	ASST. ITEMS AVG WT.	20	1	\$0.16/LB	\$0.16	3,960	662
114	CHARCOAL	ASST. 30		1	\$0.16/LB	\$0.16	444	0
105	COMPUTER ITEMS- MOUSE, KEYBOARDS, DISKS, ETC	ASST AVG 25#		1	\$0.16/LB	\$0.16	5,933	1,660
130	DISHES PLATES CUPS BOWLS	ASST. 20		1	\$0.16/LB	\$0.16	837	176
192	FEMALE CLOTHES/ACCESS: shoes belts asst sizes	AVG CS 19 LB		1	\$0.16/LB	\$0.16	13	0
181	GIFTS	BY WEIGHT AVG 15 LB	S	1	\$0.16/LB	\$0.16	12	0
182	HAIR PRODUCTS: scrunchies brushes etc	BY WT AVG WT 15		1	\$0.16/LB	\$0.16	11	0
136	HARDWARE ITEMS-TAPE,SCREWS,ETC.	ASST ITEMS-AVG 15LE	S	1	\$0.16/LB	\$0.16	109	0
196	KIDS ITEMS (food containers and related items)	Please see below: avg 2	0lbs	1	\$0.16/LB	\$0.16	174	121
	Sippy cups, hot dog slicers, popsicle molds, spill-proof bowls,	cereal and juice box contain	ners					
191	MALE CLOTHES/ACCES: shoes belts access. asst sizes	AVG CS 19 LB		1	\$0.16/LB	\$0.16	5	0

SALVAGE INVENTORY

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items. 4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge PerLB	Charge Per Unit	in Latham	Available in Cornwall R: 05/05/2014
01-Non-	Foods (Cont'd)							
106	PET CARE (NO FOOD): brushes shampoo collars etc	AVG 20 LB BOX		1	\$0.16/LB	\$0.16	2,353	707
104	SALV CAR CARE- WAX, OIL, ARMOR ALL ETC.	ASST AVG 15#		1	\$0.16/LB	\$0.16	287	0
102	SALVAGE TOYS/GAMES	ASST ITEMS AVG 20#	#	1	\$0.16/LB	\$0.16	3,569	516
103	SCHOOL/ART SUPPLIES	ASST. 25		1	\$0.16/LB	\$0.16	5,324	373
02-Baby ¹⁸⁰	/ Food/Formula BABY FOOD/ FORMULA	ASST ITEMS-AVG. W	/T 20 *	1	\$0.16/LB	\$0.16	28	0
03-Beve								
112	ASSORTED FLAVORED SELTZERS BY WT.	AVG 25 LB CS		1	\$0.04/LB	\$0.04	78,682	2,606
141	SALV COFFEE - limit 1 case	Asst. 18 - limit 1 cs		1	\$0.16/LB	\$0.16	5	0
143	SALVAGE BEVERAGE	juices, bev, no soda 4	.0	1	\$0.16/LB	\$0.16	9,943	4,354
186	SALVAGE JUICE BOXES or POUCHES	ASST. 30		1	\$0.16/LB	\$0.16	27	0
126	SALVAGE SODA	ASST. 45		1	\$0.04/LB	\$0.04	35,129	1,146
3420	WATER BY WEIGHT SINGLE SERVE SIZE	AVG 50 LB CASE		1	\$0.16/LB	\$0.16	76,376	2,588
3512	WATER BY WEIGHT: LITERS- GALLONS	40 LB AVG LITERS &	GALLO	1	\$0.02/LB	\$0.02	32,391	945
04-Brea ¹⁴⁹	d/Bakery SALVAGE BAKING GOODS	ASST 35		1	\$0.16/LB	\$0.16	3,596	1,219
05-Cere 148	al SALVAGE CEREAL	ASST 15	*	1	\$0.16/LB	\$0.16	4,740	1,584
)6-Meal 131	s/Entrees/Soups SALVAGE SOUP	ASST. 40	*	1	\$0.16/LB	\$0.16	31	0
1 0-Fruit 159	S Canned/Frozen FRUIT #10 CANS	6 #10 CANS	*	46	\$0.16/LB	\$7.36	3	0
147	SALVAGE FRUITS & VEGETABLES	ASST. 40	*	1	\$0.16/LB	\$0.16	1,101	676
12-Healt 129	th/Beauty Care SALVAGE MAKE UP	ASST. 45		1	\$0.16/LB	\$0.16	2,260	1,593
1 3-Clea 1 118	ning Products AMMONIA	AVG 40 LBS CASE		1	\$0.16/LB	\$0.16	0	0
117	BLEACH	APPROX 45# PER CA	SE	1	\$0.16/LB	\$0.16	33	0
152	HOUSEHOLD ITEMS (kitchen gadgets, linens)	ASST. 20		1	\$0.16/LB	\$0.16	25,233	596
155	SALV SOAP/CLEANING - limit 5 cases	ASST 25 no bar soap		1	\$0.16/LB	\$0.16	1,908	71
14-Juice	98							

SALVAGE INVENTORY

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant.

RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge PerLB	Charge Per Unit	in Latham	Available in Cornwall RS 05/05/2014
14-Juic 119	es (Cont'd) SALVAGE JUICE	ASST 35	*	1	\$0.16/LB	\$0.16	997	0
					******	*****		
1 6-IVIIX 6	ed/Assorted ASSORTED #10 CANS	6/#10 CANS	*	46	\$0.16/LB	\$7.36	26	0
144	SALVAGE CRACKERS	ASST. 14	*	1	\$0.16/LB	\$0.16	67	0
156	SALVAGE FOOD PANTRY	ASST. 40	*	1	\$0.16/LB	\$0.16	585	4,510
	ritional Aids				*****	** **		
158	SALVAGE OTC MEDICINE- may contain alcohol	AVG. WT 15		1	\$0.16/LB	\$0.16	6,209	1,008
19-Pap	er Products-Household FACIAL TISSUE BY-WT.	ASST. 22		1	\$0.16/LB	\$0.16	101	502
113	NAPKINS BY WT.	ASST. 30		1	\$0.16/LB	\$0.16	16	0
109	SALV BATH TISSUE - limit 3 cases	ASST. 25		1	\$0.16/LB	\$0.16	0	37
107	SALV PAPER TOWELS - limit 3 cases	ASST. 15		1	\$0.16/LB	\$0.16	4	32
153	SALVAGE PAPER & PLASTIC	ASST. 35		1	\$0.16/LB	\$0.16	3,007	13
20-Pap	er Products-Personal ADULT DIAPERS	ASST. 15		1	\$0.16/LB	\$0.16	1,577	449
154	Personal Hygiene-may contain alcohol	ASST. 35		1	\$0.16/LB	\$0.16	3,347	10
139	SALVAGE DIAPERS - limit 10 cases	ASST sizes, brands 15-3	30 LB\$	1	\$0.16/LB	\$0.16	8	31
101	SALVAGE FEMININE HYGIENE: limit 3 cases	ASST. 15		1	\$0.16/LB	\$0.16	1	0
22-1-Pe	et Food-Dog Only SALVAGE CANNED DOG FOOD	ASST 40		1	\$0.16/LB	\$0.16	267	0
132	SALVAGE DRY DOG FOOD	ASST 40		1	\$0.16/LB	\$0.16	4,698	0
22 Pot	Foods/Care							
193	PET FOOD & SUPPLIES (NON DOG & CAT)	AVG WT 15LB		1	\$0.16/LB	\$0.16	5,993	533
135	SALVAGE CANNED CAT FOOD	ASST 40		1	\$0.16/LB	\$0.16	171	0
134	SALVAGE DRY CAT FOOD	ASST 40		1	\$0.16/LB	\$0.16	1,219	0
151	SALVAGE KITTY LITTER	ASST. 40		1	\$0.16/LB	\$0.16	42,458	2,980
25-Sna 145	ck Foods/Cookies SALVAGE CANDY	ASST. 20		1	\$0.16/LB	\$0.16	5,644	785
140	SALVAGE COOKIES	ASST 15		1	\$0.16/LB	\$0.16	1,809	734
146	SALVAGE SNACKS	Popcorn, Chips 15		1	\$0.16/LB	\$0.16	8,265	1,382

SALVAGE INVENTORY

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.
5= Only Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge PerLB	Charge Per Unit	Available in Latham 05/05/2014	in Cornwall	
-	diments								
163	CONDIMENTS #10 CANS	6 #10 CANS	*	46	\$0.16/LB	\$7.36	24	0	1
150	SALVAGE CONDIMENTS & PICKLES	ASST 45	*	1	\$0.16/LB	\$0.16	2,178	100	
27-Veg 0 160	etables Canned/Frozen VEGETABLES #10 CANS	6 #10 CANS	*	46	\$0.16/LB	\$7.36	13	0	
30-Salv									
7	ASST. PRODUCT BY WT.	ASSORTED AVG WT 30)	1	\$0.16/LB	\$0.16	235,772	1,514	
100	SALVAGE FURNITURE	ASSORTED 30-100 LBS		1	\$0.16/LB	\$0.16	2,378	0	
	FROZEN S	SECTION OF SALV	/AGE II	NVEN	NTORY				
	ad/Bakery								
9883	READY TO BAKE BREAD	AVG. 30 LB CS	*	1	\$0.16/LB	\$0.16	806	0	
9879	READY TO EAT BREAD	ASST. 25	*	1	\$0.16/LB	\$0.16	0	0	
	ls/Entrees/Soups								
189	SALVAGE DELI	ASST ITEMS 20 lb avg.	*	1	\$0.16/LB	\$0.16	373	0	
184	SALVAGE ENTREES	ASST. 15	*	1	\$0.16/LB	\$0.16	4,192	0	
07-Dair	y Products								
9878	SALVAGE DAIRY PRODUCTS	ASST. 29	*	1	\$0.16/LB	\$0.16	154	0	
08-Des									
9882	READY TO BAKE DESSERTS	ASST WEIGHT 20		1	\$0.16/LB	\$0.16	2,859	0	
9881	READY TO EAT DESSERT	ASST. 25		1	\$0.16/LB	\$0.16	492	0	
	t/Fish/Poultry								
185	SALV MEAT (ON-SITE)	BULK 40	*	1	\$0.16/LB	\$0.16	154	0	1
183	SALV MEAT (PANTRY)	ASST 45	*	1	\$0.16/LB	\$0.16	30,596	9,837	
188	SALVAGE FROZEN SEAFOOD	20 LBS	*	1	\$0.16/LB	\$0.16	6	0	
27-Veg	etables Canned/Frozen SALVAGE FRENCH FRIES/ ONION RINGS	ASST. 20	*	1	\$0.16/LB	\$0.16	2	0	
				1					
9880	SALVAGE VEGETABLES & FRUITS	ASST. 29	*	1	\$0.16/LB	\$0.16	35	0	

COOP INVENTORY

ASST. 20

REFRIGERATED SECTION OF SALVAGE INVENTORY

16-Mixed/Assorted

SALVAGE COOLER

\$0.16

35,083

29,358

1 \$0.16/LB

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items. 4= Only Food Pantries, Soup Kitchens and Shelters may order these items. 5= Only Soup Kitchens and Shelters may order these items.

COOP pricing is subject to change without notice due to market pricing

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge Per Unit	in Latham	Available in Cornwall RS 05/05/2014
		SECTION OF COO		NTORY			
01-Non	-Foods		-				
1386	DIAPERS SIZE 2 JUMBO PACK	8/34 PACK- 272 diapers		14	\$50.55	303	25
03-Beve							
1103	COFFEE DECAF	12/11.5 OZ		10	\$38.06	353	48
1040	COFFEE	12/11.5 OUNCE		10	\$24.86	616	40
1055	TEA BAGS-4333	12/100 CT. BOXES		13	\$22.79	215	27
04-Brea	ad/Bakery						
1067	PANCAKE MIX, COMPLETE	12/2 LB.	*	32	\$17.92	944	54
05-Cere		40/40 07	*	4.4	#40.70	057	40
1014	CORN FLAKES	12/18 OZ		14	\$16.73	857	13
1339	KELLOGGS VARIETY PACK CEREAL	12/10 1 OZ BOXES-1913	31	13	\$49.57	131	7
1017	OATMEAL FLAV IND PACKED 19765	12/10 PACKS		12	\$18.03	357	105
	Whole Grain						
1010	QUICK OATS	12/18 OZ	*	14	\$11.51	340	42
	Whole Grain						
1177	RAISIN BRAN Whole Grain	12/20 OZ4548	*	20	\$29.34	906	53
1099	TOASTED OATS CEREAL	12/14 OZ BOXES-4069	*	18	\$19.02	983	102
1000	Whole Grain	IZITI OZ BOXEG 1000		10	Ψ10.02	000	102
06-Meal	Is/Entrees/Soups						
1047	BEEF STEW- 6/#10 CANS	6 CANS/105 OZ. EACH	*	42	\$51.06	181	24
1048	BEEF STEW	12/32 OZ. 30101	*	22	\$16.88	562	204
1321	CHEDDAR BROCCOLI RICE & SAUCE	24/4.5 OZ		8	\$17.16	186	39
1407	CHICKEN FLAVORED NOODLES & SAUCE	24/4.3 OZ BOX		8	\$17.16	327	48
1223	CHICKEN NOODLE SOUP	24/10.75 OZ. 4283	*	17	\$11.31	308	92
1155	CHILI W/MEAT & BEANS 6/#10	6 CANS/105 OZ EACH		42	\$49.82	274	9
1056	CHILI WITH BEANS	12/15 OZ.		13	\$13.08	934	320
1001	CORNED BEEF HASH 12/1530213	12/15 OZ	*	13	\$17.24	1,390	255
1224	CREAM OF MUSHROOM SOUP	24/10.75 OZ. CANS	*	17	\$13.43	739	286
1129	MACARONI & CHEESE	24/7.25 OZ	*	14	\$10.73	738	231

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

ltem	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge Per Unit	in Latham	Available in Cornwall RS 05/05/2014
06-Mea	Ils/Entrees/Soups (Cont'd) PORK & BEANS	24/16 OZ.	*	28	\$15.05	509	171
1270	RAVIOLI, MEAT 24/15	24/15 OZ. CANS		26	\$16.58	1,404	252
1283	RAVIOLI, MEAT 6/#10 CANS	6 CANS, 105 OZ. EAC	:H	42	\$31.18	327	13
1304	SPAGHETTI RINGS IN TOM. SAUCE 28532	24/15 OZ CANS 427		26	\$11.60	549	136
1198	TOMATO SOUP 38202	24/11 OZ. CANS	*	17	\$11.01	750	267
1085	VEGETABLE SOUP 38208	24/10.5 OZ.	*	17	\$14.00	773	242
07-Dair 1080 1078	TY Products 1 % CHOCOLATE MILK - SHELF STABLE 1% WHITE MILK - SHELF STABLE	27/8 OZ CARTONS 27/8 OZ CARTONS W.	/STRAV *	15 15	\$14.15 \$14.15	342 243	119 35
1059	MILK PWRD VIT A&D FORTIFIED	60-1 QT. PACKETS	*	15	\$43.36	353	39
09-Dres 1043 1053	SSING ITALIAN SALAD DRESSING RANCH SALAD DRESSING	12/16 OUNCE 12/16 OUNCE	*	15 15	\$12.20 \$12.20	7 163	130 34
10-Frui 1130	its Canned/Frozen APPLE SAUCE	12/26 OZ	*	21	\$13.89	347	75
1054	FRUIT COCKTAIL 6/#10 CANS	6 CANS/105 OZ. EACH	H *	47	\$27.62	263	7
1051	FRUIT COCKTAIL	24/15 OZ	*	30	\$18.77	914	181
1006	PEACHES IN LT SYRUP	24/15 OZ	*	25	\$18.09	110	107
1005	PEACHES, 6/#10 CANS	6 CANS/105 OZ EACH	· *	42	\$26.60	159	30
1022	PINEAPPLE IN JUICE	24/20 OZ	*	33	\$17.60	459	218
12-Hea	Ith/Beauty Care DEODORANT SOAP	48/5 OZ BARS 4209	5	17	\$24.23	341	61
1371	SUAVE SHAMPOO- 6/15 OZ	6/15 OZ PLASTIC BOT	TTLE	6	\$8.47	428	113
13-Clea 1154	aning Products DISH DETERGENT 42518	12/1 QUART		24	\$11.96	157	52
1398	LAUNDRY DETERGENT LIQUID	6/60 OZ BOTTLES		32	\$12.72	156	19
1451	LAUNDRY DETERGENT POWDER	12/30 OZ CARTON		29	\$61.14	0	15
1456	LAUNDRY DETERGENT-POWDER	5/60 OZ BOX		20	\$37.00	247	0
14-Juic	es						

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

140	Description	Daaldee	*=Yes for	Case Wt.	Charge Per Unit	in Latham	Available in Cornwall RS
Item	Description	Packing	HPNAP	VVI.	rei Oilli	05/05/2014	05/05/2014
14-Juic 1470	res (Cont'd) 100% JUICE	8/64 OZ.	*	32	\$22.18	1,916	91
1146	APPLE JUICE 12/46 OZ- (G24)	12/46 OZ	*	38	\$16.67	814	133
1063	JUICE BOXES, 100% JUICE	4/8/6.75 OZ PACK	*	17	\$10.07	562	145
15-Mea	t/Fish/Poultry						
1465	CHICKEN BREAST CANNED	24/5 oz cans	*	10	\$22.81	282	27
1464	LUNCHEON MEAT (SPAM)	24/12 oz cans		19	\$36.46	342	63
1296	TUNA, 66 OZ.CANS, IN WATER	6/66 OZ.	*	29	\$54.21	270	2
1038	TUNA, IN WATER	48/5 OZ.	*	23	\$33.54	1,087	173
16-Mixe	ed/Assorted						
1317	GRAHAM CRACKERS 27975	12/16 OZ	*	15	\$20.32	484	85
1008	SALTINE CRACKERS SALTED 27960	12/16 OUNCE 4508	*	15	\$14.92	447	94
1162	STUFFING MIX	12/6 OZ	*	7	\$8.03	899	159
19-Pape	er Products-Household BATHROOM TISSUE	96 ROLLS		46	\$28.56	73	20
1203	BOWLS, FOAM, 12 0Z.	1000 COUNT		9	\$14.03	125	60
1206	CUPS FOAM HOT OR COLD	1000 8 OZ.		8	\$17.48	174	34
1309	FACIAL TISSUE	100 CT/ 30 BXS		11	\$13.71	109	43
1205	FOIL	18" X 500'		7	\$14.71	59	140
1209	FORKS PLASTIC	1000 COUNT		7	\$6.47	319	139
1208	KNIVES PLASTIC	1000 COUNT		7	\$6.18	341	198
1211	LINERS CLEAR TRASH CAN	38 X 60, 200/55 gallon		21	\$18.19	67	120
1202	NAPKINS PAPER	12/500 SLEEVES		33	\$23.17	238	33
1400	PAPER TOWELS - 30 ROLLS	30 ROLLS PER CASE		15	\$14.84	196	38
1308	PLASTIC COLD CUPS	2500/5 OZ		21	\$29.96	119	51
1276	PLASTIC WRAP	1 ROLL,18" X 2000'		10	\$11.07	243	11
1207	PLATES, FOAM, 9in.	500 COUNT		8	\$12.04	117	38
1210	SPOONS PLASTIC	1000 COUNT		7	\$6.19	70	224

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

20-Paner	Producto Porconal (Contid)	Packing	for HPNAP	Case Wt.	Charge Per Unit	Latham 05/05/2014	Cornwall RS 05/05/2014
1455	r Products-Personal (Cont'd) DIAPERS SIZE 4	8/24 COUNT		20	\$50.55	148	15
1454	DIAPERS SIZE 6	8/18 COUNT		14	\$50.55	191	30
21-Pasta 1104	EGG NOODLES 12/12 OZ	12/12 OZ PACKAGES	*	12	\$8.95	520	138
1049	ELBOW MACARONI	20/1 LBS	*	22	\$9.95	615	94
1121	NOODLES & SAUCE ALFREDO	24/ 4.5 OZ PACKAGES	007	6	\$17.34	197	91
1050	SPAGHETTI 20/1#	20/1 LB	*	22	\$9.87	1,167	139
1183	ZITI 20/1 LB PKGS.	20/1 LB	*	22	\$9.77	913	141
23-Non-N 1328	Meat Protein BLACK BEANS	24/19 OZ CANS 52254		35	\$14.17	270	88
1174	KIDNEY BEANS 24/16 OZ	24/16 OZ.		30	\$12.94	115	84
1065	PEANUT BUTTER, SMOOTH 12/18 oz	12/18 OZ 16783	*	21	\$24.53	1,750	180
24-Rice 1320	BEEF FLAVORED RICE MIX	36/8 OZ	*	21	\$23.18	209	7
1421	CHICKEN FLAVORED RICE	36/7 OZ	*	21	\$23.18	238	0
1030	RICE	24/1 lb bags	*	26	\$15.05	201	87
25-Snack 1266	k Foods/Cookies PUDDING, HUNTS CHOCOLATE	12/4 CT snack packs		15	\$20.13	135	0
26-Cond 1156	iments CRANBERRY SAUCE JELLIED	24/16 OZ.	*	28	\$17.90	668	339
1138	GRAPE JELLY 12/18 4215	12/18 OZ 4215	*	17	\$12.52	684	64
1044	GRAPE JELLY	12/32 OZ.	*	26	\$17.63	524	67
1241	KETCHUP	12/24 OZ	*	20	\$12.86	219	91
1139	MAYONNAISE 12/16 4146	12/16 OZ	*	13	\$15.60	836	96
1046	MAYONNAISE	12/32 OZ.	*	33	\$25.74	422	72
1172	PANCAKE SYRUP	12/24 OZ.	*	29	\$13.27	511	82
1150	SPAGHETTI SAUCE 12/32	12/32 OZ	*	36	\$16.80	180	114
1149	SPAGHETTI SAUCE	6/64 oz. Casa Visco	*	24	\$19.04	363	16
1227	SQUEEZE GRAPE JELLY 02045A	12/20 OZ PLASTIC SQU	EEZE *	18	\$20.83	0	1

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

Item	Description	Packing	*=Yes for	Case Wt.	Charge Per Unit	Available in Latham	Available in Cornwall RS 05/05/2014
	diments (Cont'd)	i acking	HPNAP			33/03/2014	00/00/2014
1228	SQUEEZE STRAWBERRY JELLY 02047A	12/20 OZ PLASTIC SQI	JEEZE *	18	\$25.40	168	7
1045	STRAWBERRY PRESERVES	12/32 OZ.	*	20	\$21.91	567	57
1190	SUGAR 10/4 LB BAGS # 38002	10/4 LB BAGS	*	41	\$23.80	174	108
1446	SUGAR 12/2	12/2 LB BAGS	*	24	\$13.64	18	53
1023	TURKEY GRAVY	24/10.5 OZ		16	\$13.54	709	429
1012	VEGETABLE OIL, PURE 4375	12/32 OZ BOTTLE	*	26	\$21.43	594	71
	tables Canned/Frozen						
1032	CARROTS, SLICED	24/14.5 OZ	*	28	\$11.74	952	125
1002	CORN, 6/#10 CANS	6 CANS/105 OZ EACH		42	\$19.22	202	15
1081	CORN, WH KERNEL	24/14.5 OZ	*	30	\$11.87	462	177
1153	CRUSHED TOMATOES 6/#10 CANS	6 CANS/105 OZ EACH		42	\$14.64	173	17
1034	GREEN BEANS, 6/#10 CANS	6 CANS/105 OZ EACH		42	\$14.52	175	19
1036	GREEN BEANS, CUT	24/16 OZ.	*	28	\$11.58	959	347
1181	MIXED VEGETABLES	24/15 OZ.	*	28	\$13.08	825	117
1117	PEAS, 6/#10 CANS	6 CANS/105 OZ EACH		42	\$16.58	166	16
1118	PEAS, CANNED	24/14.5 OZ.	*	28	\$12.56	819	195
1068	POTATOES, INSTANT	12/14 OZ.	*	15	\$16.63	525	60
1152	TOMATO SAUCE, 6/#10 CANS	6 CANS/105 OZ EACH	*	47	\$15.44	134	7
1057	TOMATOES, WHOLE PEELED	24/14.5 OZ. 52701		29	\$11.37	413	79
	FROZEN SE	ECTION OF CO	OOP IN	/ENTORY	(
15-Meat	/Fish/Poultry SPIRAL CUT HAM-FULLY COOKED	6/8 #	*	50	\$108.17	295	13
1229	ALL BEEF HOT DOGS	24/1 LB	*	28	\$64.24	183	16
			*				
1235	BACON WRAPPED PORK MEDALLIONS	12/1.5# PACKAGES		20	\$50.00	232	43
1106	BACON: not HPNAP eligible	24/1 LB not HPNAP elig	ible	26	\$76.34	88	10
1225	BAVARIAN BONELESS HAM HALVES	8/3.75# PER CASE	*	32	\$88.97	8	13
1120	BAY SCALLOPS	10/2 LB BAGS	*	22	\$87.36	2	0
1289	BEEF PATTIES 100% HOMESTYLE	12/24 OZ.	*	20	\$56.85	587	53

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

Item	Description	Packing	*=Yes	Case Wt.	Charge Per Unit	in Latham	Available in Cornwall RS 05/05/2014
	t/Fish/Poultry (Cont'd)	i doming	HPNAP				
1058	BOLOGNA, SLICED	12/16 OZ	*	13	\$14.52	265	85
1071	BONELESS PORK ROAST	10/2 LB	*	22	\$53.54	197	26
1079	BREAKFAST SAUSAGE fully cooked	15/1LB PKGS	*	17	\$54.60	303	20
1031	BREAKFAST SAUSAGE, PORK	10 lb links, bulk pack	*	11	\$16.69	272	35 1
1281	CHICKEN CORDON BLUE	6/4/6 oz packages	*	10	\$26.60	220	22
1343	CHICKEN DRUM STICKS Lean Meat	8/5 LB BAG	*	40	\$35.39	338	29
1126	CHICKEN PATTIES	15/ 1 lb packages	*	16	\$33.43	665	38
1277	CHICKEN ROASTERS	9/6-7LBS.	*	59	\$71.95	37	1
1267	CHICKEN STUFFED WITH BROCCOLI AND CHEESE	6/ 4/6 oz pks.	*	10	\$26.60	158	21
1107	CHICKEN TENDERS	8/2 lbs bags	*	19	\$32.08	903	17
1113	COUNTRY STYLE SPARE RIBS B-L	5 LB BOX	*	5	\$13.38	190	40
1180	EYE ROUND STEAKS Lean Meat	10/ 2 lb packages	*	22	\$84.90	0	1
1412	FISH STICKS 12/16 OZ	12/16 OZ	*	13	\$23.65	79	27
1127	GROUND BEEF 90/10 Lean Meat	20/1 LB	*	22	\$70.78	409	83
1100	GROUND BEEF 80/20	20/1 LB	*	21	\$62.72	298	65
1354	GROUND TURKEY 20/1	20/1 # UNITS	*	22	\$22.18	164	41
1420	HAM STEAK	12/1 LB	*	12	\$38.84	189	9
1426	HOLTEN RESTAURANT QUALITY BEEF PATTIES	32-1/4 LB BURGERS	*	9	\$17.70	500	45
1231	HOLTON BEEF PATTIES	18/24 OZ BOXES (6 PA	ATTIES *	29	\$60.48	124	25
1119	HOT DOGS	24/1 LB	*	28	\$23.65	448	23
1383	IQF Boneless Skinless Chicken Breast 12/3# Bags	12/3 lb bags	*	38	\$68.14	222	8
1092	ITALIAN SWEET SAUSAGE LINKS	6/3 LB PACKAGES	*	21	\$40.72	20	16
1440	JUMBO LEG QUARTERS	8/4.50 LB TRAYS	*	40	\$33.60	196	2
1457	KIELBASA SIDE BY SIDE	18/9 OZ PACK	*	10	\$19.59	6	46

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

	·						Available	
Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge Per Unit	in Latham 05/05/2014	in Cornwall RS 05/05/2014	
15-Mea	t/Fish/Poultry (Cont'd) MEAT BOX	See List Below	*	13	\$31.29	7	0	
1204	2 lb netted pork roast, 3 1-lb pkgs 90% ground beef, 3 1-li chicken tenders, 2 lbs maple breakfast sausage links			13	φ31.29	ı	Ü	
1285	MEATBALLS,ITALIAN STYLE	20/1 LB. PK.	*	22	\$42.34	335	49	
1274	MEATLOAF	10 / 2 LB	*	23	\$50.18	107	31	
1312	NATURAL POLISH KIELBASA	12/1 LBS	*	13	\$38.84	238	36	
1114	PORK CHOPS BONELESS Lean Meat	10/2 LB PACKAGES	*	22	\$64.74	373	45	
1366	PULLED BBQ PORK	9/2 LB TRAYS	*	19	\$61.49	45	14	
1258	SALISBURY STEAK	5# CASE	*	6	\$12.54	154	0	
1445	SALMON BURGERS 12/1#	14/12/1 LB	*	14	\$50.13	592	18	
1019	SANDWICH STEAK	12/14 OUNCE	*	11	\$26.60	264	7	
1042	SIRLOIN SANDWICH STEAKS MEAT	20/1 LB PACKAGES	*	22	\$104.16	106	38	
1039	SLICED HAM	12/16 OZ. PKGS	*	14	\$35.88	447	123	
1140	STEW BEEF, LEAN Lean Meat	20/1 LB	*	22	\$78.40	327	7	
1122	SWEET ITAL SAUSAGE LINKS	12/1 LB	*	14	\$32.12	515	28	
1368	TILAPIA FISH FILLETS-12/1 LB Lean Meat	12/1 LB BAG	*	14	\$31.85	227	27	
1448	TURKEY BURGERS 9/2 LB	9/2 LB BOX	*	18	\$78.62	272	0	
1418	TURKEY BURGERS ALL NAT 100% WHITE MEAT	8/ 2LB BOX	*	16	\$50.98	0	0	
1422	TURKEY TENDERLOIN	8/1.65-1.75 LBS	*	10	\$59.54	163	14	
1016	TURKEYS 4/10-12 lbs Lean Meat	4/10-12 LB.	*	48	\$56.50	886	45	
21-Past 1101	ta CHEESE RAVIOLI	12/20 OZ	*	13	\$17.81	309	25	
1133	STUFFED SHELLS	12/18 OZ	*	16	\$19.04	336	29	
27-Veg e	etables Canned/Frozen BROCCOLI, CAULIFLOWER & CARROT BLEND	12/1#	*	13	\$15.40	104	14	
1282	CARROTS, FROZEN	12/1# BAGS-	*	14	\$14.50	252	24	

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant.

RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

5= Only Soup Kitchens and Shelters may order these items.

COOP pricing is subject to change without notice due to market pricing

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge Per Unit	Available in Latham 05/05/2014	Available in Cornwall RS 05/05/2014
	etables Canned/Frozen (Cont'd)						
1357	FROZEN CORN- 12/1 #	12/1 LB BAGS	*	14	\$16.46	210	15
1182	HASH BROWN PATTIES 79844	12/10 CT TRAYS	*	20	\$22.80	227	19
1410	PEAS, FROZEN 12/1	12/1 LB BAGS	*	14	\$15.12	157	20
1061	TATOR TOTS4364	12/2 LB	*	26	\$25.41	61	29
	REFRIGER	RATED SECTION (OF COOF	INVENT	ORY		
07-Daiı	ry Products						
1037	AMER CHEESE SLICES	12/12 OZ.	*	11	\$19.17	614	261
1302	BLOCK CHEDDAR CHEESE	12/8 OZ.	*	8	\$18.26	169	0
1108	CHEDDAR CHEESE, SHREDDED	12/8 OZ	*	7	\$20.12	272	9
1102	FRESH EGGS LARGE	15 DOZEN	*	27	\$21.63	134	54
1217	MARGARINE	30/1 lb. pkg.	*	32	\$21.95	911	73
1185	MOZZ CHEESE, SHREDDED	12/8 OZ.	*	7	\$20.57	328	9
15-Mea	nt/Fish/Poultry						
1020	HAM CANNED	12/3# CANS	*	36	\$84.27	179	17

USDA INVENTORY

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant. **RS=Restrictions as follows**

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge PerLB	Charge Per Unit	Available in Latham 05/05/2014	in Cornwall	RS
	DRY SEC	TION OF USI	DA INVE	NTOF	RY				
5-Cerea	al								
0-Fruits	s Canned/Frozen								
927	USDA MIXED FRUIT	24/15 OZ CANS	*	26	\$0.00/LB	\$0.00	0	121	4
J933	USDA UNSWEETENED APPLE SAUCE CUPS	96/4.5 OZ CUPS	*	31	\$0.00/LB	\$0.00	25	0	4
4-Juice	25								
968	USDA CRANBERRY JUICE CONCENTRATE-JUST ADD WATER	12/12 OZ CANS	*	12	\$0.00/LB	\$0.00	44	0	4
J925	USDA GRAPE JUICE	8/64 OZ BOTTLES	*	37	\$0.00/LB	\$0.00	894	0	4
5-Meat/	/Fish/Poultry								

USDA INVENTORY

Items on this page that are marked with an asterisk (*) may be paid for by the HPNAP Food Grant.

RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge PerLB	Charge Per Unit	Available in Latham 05/05/2014	Available in Cornwall 05/05/201	RS
15-Mea	t/Fish/Poultry (Cont'd)		111 14741						
U934	USDA CANNED SALMON	24/15 OZ CANS	*	27	\$0.00/LB	\$0.00	1,454	0	4
21-Past	ta								
948	USDA SPAGHETTI 12/2#	12/2 LB BAGS	*	24	\$0.00/LB	\$0.00	9	57	4
U917	USDA WHOLE GRAIN ROTINI	20/16 OZ BAGS	*	22	\$0.00/LB	\$0.00	94	0	4
23-Non	-Meat Protein								
905	USDA PEANUT BUTTER 12/18	12/18 OZ PLASTIC	*	21	\$0.00/LB	\$0.00	4,357	99	4
27-Veg	etables Canned/Frozen USDA GREEN BEANS CANNED	24/14 OZ CANS	*	24	\$0.00/LB	\$0.00	0	65	4
	FROZEN	SECTION OF U	SDA INV	ENT	ORY				
10-Frui	ts Canned/Frozen								
919	USDA BLUEBERRIES-FROZEN	12/2.5 LB BAGS	*	30	\$0.00/LB	\$0.00	0	70	4
14-Juic	ees								
U932	USDA FROZEN ORANGE JUICE 70/4 OZ	70/4 OZ CARTONS	*	20	\$0.00/LB	\$0.00	840	232	4
15-Mea	t/Fish/Poultry								
983	USDA CHICKEN LEG QUARTERS BULK	BULK PACK	*	33	\$0.00/LB	\$0.00	1,570	29	5
U902	USDA CHICKEN LEG QUARTERS	4/10 LB	*	40	\$0.00/LB	\$0.00	2,679	180	4